1156FZ - 1136KZ

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO

HONDA X-ADV 750 (2017)

Supporto - Support - Support _ 1156FZDXV _
1 Halterung - Soporte - Apoio 1156FZSXV A
Tappo - Cap
72442DX
2 Chapeau - Kappe 79449SX 2(Dx-Sx)
Tapa - Boné
Vite - Screw
8 Vis - Schraube TCE M8x20 820TCE 2
Tornillo - Parafuso
Vite - Screw
4 Vis - Schraube TCE M8x30 830TCE 2
Tornillo - Parafuso
Vite - Screw
5 Vis - Schraube TSP M6x20 620TSP 2
Tornillo - Parafuso
Vite - Screw
6 Vis - Schraube TCE M6x25 625TCE 2

Tornillo - Parafuso

Rondella - Washer
7 Rondelle - Scheibe - 8RON 4
Arandela - Arruela

8 Dado - Bolt - Ecrou Dado Autobloccante Flangiato

Mutter - Tuerca Alto M6 6DADIAFLN 2

Particolari Inclusi Nel Kit Viteria Della Piastra
Components Included In The Fitting Kit Of The Plate
9 Pigces Inclues Dans Le Kit De Vis De La Platine
Die Einzelnen Teile Sind Bei Montagekit Der Platte Enthalten
Despieces Incluidos En El Kit De Anclajes De La Parrilla

- La piastra va montata con 6 viti e non 4, come correttamente indicato a pag...

~The plate must be installed using 6 screws and not 4 as indicated on page 4.

-Die Platte muss mit 6 Schrauben (und nicht mit 4, wie auf Seite 4 angegeben) befestigt werden
-La platine doit étre fixée avec 6 vis et non pas avec 4, comme indiqué a la pag.4.

-La parrilla debe ser atornillada con 6 tornillos y no 4, como esta indicado en la pagina 4.

-Por favor fixar a base com 6 parafusos e nao 4, como indicado corretamente a pag. 4

©Copyright 12/10/2017 LF-Rev01

1/4



1156FZ - 1136KZ

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO

HONDA X-ADV 750 (2017)

VB

( MAXLOAD6KG )

@% e
< 10 mm

©Copyright 12/10/2017 LF-Rev01

2/4



1156FZ - 1136KZ

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO

HONDA X-ADV 750 (2017)

©Copyright 12/10/2017 LF-Rev01

3/4



1156FZ - 1156KZ

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO

HONDA X-ADV 750 (2017)

ONLY M8A / M8B

0 R
AGE - BAUANLEITUN
NSTRUCOES {

R |; ) ul B J
INSTRUCTIONS DE MC
» | DE MONTA






